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/General Instructions to Candidates :

\

There is a 'Cool off time' of 15 minutes in addition to thc writing time of
2% hrs.

You are neither allowed to write your answers nor to discuss anything with
others during the 'cool off time'.

Use the 'cool off time' to get familiar with questions and to plan your answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the
same question itself.

Calculations, figures and graphs should be shown in the answer sheet itself. v
Malayalam version of the questions is also provided:

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.
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There are certain differences
between ‘Australopithecus and
Homo. What are they?

Analyze the ways of obtaining
food and patterns of residence of
early man.

Point out the achievements
the
Mesopotamia in time reckoning
and Mathematics with fhe help
of the system of writing.

made by people of

'"Mari was an example for both
imperial city and trading center'.
Do with
argument? Why? Substantiate.

you agree this

Name the.following places and

geographical features and mark

them on the outline map of the
World provided.

a) The second capital of the
Roman empire.

. b) The sea that stretches from
Spain in the west to Syria in
the east.

c) The two rivers that lie in the
northern boundaries of the
Roman empire.

Point the differences

between the Roman empire and

out

the Iranian empire.

What do you mean by late
antiquity in the history of Rome?
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Analyze the economic life of the 8. owyoquodle: (IE3narT RMSTBOS
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11.

12.

- How far is this statement valid?

13.

14.

15.

'The military strategies helped
Genghis Khan to establish a
nomadic empire by defeating
the

sedentary people'.

Substantiate.

Medieval European society was
divided into three orders. What

are they? Explain their features.
OR

'The crisis of the fourteenth
century created social unrest

and political changes in Eurbpe'.

Explain.

How did the cities of Venice and

‘Genoa differ from other parts of

Europe?

'Artists used art and

architecture as a way to express

_humanis_m'. "Evaluate the

validity of this statement.

The Aztecs gave importance to

education. Substantiate.
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16. Find out the relationship

between the two parts of item 'a’

" and fill in the blanks of item 'b'

accordingly.
1) .a) The Mayas : Mexico
b) The Incas "1 ..o
ii) a) Quipu : Accounting
- system
b) | Chinampas  : ..o
11) a) Guanahani Columbus
b) Brazil = 1 ...
) a) Capitalism Eric
and slavery Williams
by Geography 1 ...

17. How | did

the Industrial

Revolution affect women and

children?

18. 'The demands of Luddism were

not

against

" machines'.

Substantiate the statement.
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19. Choose the correct answer from

the given alternatives.

1) Name the author of the book,

'"The Great Australian

Silence'.

a) Henry Reynold
b) W.E.H. Stanner
¢) Captain Cook
d) Daniel Paul

11) The Gold Rush was in ...........

a) Africa
b) North America
¢) South America

d) Australia

iii) Name the country which

made the  'Lousiana

purchase'.
a) USA

b) France
¢) Australia

d) Britain

iv) Who founded the colony of

K-20

'Quebec'?
a) France
b) Britain
¢) Denmark

d) Spain
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20.

21.

What is the cultural revolution
in China? Who introduced 1t? (2)

Arrange the following events in
a chronological order :

a) Russo-Japanese war

b) Long March

'¢) End of Shogun power

K-20

d) Revolt 'under Sun Yat-sen

against the Manchu empire  (4)
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